Annexure — XVI(a)

The details of cost benefit analysis has been furnished in the following Tables A, B & C.

TABLE-A
PARAMETRES FOR EVALUATION OF BENEFIT NOT WITHSTANDING LOSS OF
FOREST
SL Parameters Benefit per annum
No.

1

Increase in productivity attributable to the specific
project.

Iron ore- 0.31 MTPA X Rs.200 Cr

Manganese Ore — 0.094 MTPA x Rs 250 Cr.

62.000 Crores
23.50 Crore

2 | Benefit to economy from Steel Plant
1.6 MT of Iron ore will yield 1 MT of steel. 0.31 million
tons of Iron will yield 0.194 million tons of steel X
Rs.3000 Cr = Rs.582.00 crores
3 | No. of population benefited Total 2000 nos.
(Including indirect benefited)
4 | Employment potential 250 nos.
5 | Cost of acquisition of facilities on non forest land Nil
wherever feasible.
6 | Loss of (a) agriculture (b) Animal husbandry production Nil
due to diversion of forest land.
7 | Cost of rehabilitating the displaced person as different Nil
from compensation amounts given for displacement
8 | Cost of supply of free fuel wood to workers residing in or 0.216 crores

near forest area during the period and construction. 300
nos. X 36 quintal X Rs.200/- =

TOTAL (row1+8)

667.716¢crores

Total benefit up to Iron ore life

Rs 667.716 x 6 yrs = 4006.296
Crs.




